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Figure 3. Solution Structure



2.1.1. Nearest Neighbor Algorithm
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Figure 4. Nearest Neighbor Algorithm Code

2.1.2. Nearest Neighbor Algorithm with K-d tree
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Figure 5. Example of K-d tree (k=2)
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Figure 7. K-d tree code (solve)
2.1.3. Greedy 2-opt Algorithm
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Figure 9. Greedy 2 opt code
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Distance Node = 100 Node = 5000 Node = 10000
NN + K-d tree 859.359 31536.955 44478.002
Greedy 2 opt 837.826 29302.324 40881.846
Table 1. ¥ 112|F 7} Distance H| 1L
Elapsed time Node = 100 Node = 5000 Node = 10000
NN + K-d tree 0.003 0.407 1.183
Greedy 2 opt 0.001 4172 19.457
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